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Answer the following guestions:

Al Al e cal

Choose one scientist of (a) or (b)
and mention his contribution in the
field of chemistry:

(a) Kekule

(1) slalal) aaf i .1
HSU ¢ (‘,1) j
H ?IJ LS'M‘ JJJS\

Write the scientific term for the
following statement :

The product of the concentration
of hydrogen ions and hydroxide
ions produced from water
ionization that equals 1 x 10

(=ls Jad) oalal
Al 5 Ll
o G e Jals
Ol QoS 5 el 5 o 5 2]
1x 107G b s el (15 (1a

Write the structural formula for:

Lactic acid

Al dduall g} 3




Give reason for: P ol L Sl 4

. : Jalxia o 528 saY) Cliaud J slae
Ammonium acetate solution has eadll e draa e gl

a neutral effect on litmus
solution

Werite the scientific term for the JIal)  calal) mlbadd) qisf .5
following statement :
o7

An alloy formed from two Lagd (i (g (5S35 A
elements having the same sl JaN g el s
atomic radius , crystal lattice CAilaSl) al g3l
and chemical properties

s daaal) Aoy i) 6
asa (e 1Mol Al aie
On adding 1 mole of hydrobromic acid SR o] PRAIRC P PRTPPRIAL
to 1 mole of ethyne, so, one mole of S e (e Jse 0S¢ Y

1s formed.

(a) Methanal

Ethanal
(c) Chloroethane

(o) Choloroethene

Choose the proper answer:




Calculate the pH value of methylamin
solution whose concentration is 0.2 M
knowing that its ionic equilibrium
constant K, =1.8 x 10

0.2 M s 38 5 Oaal Jiinall
Kp 4aal culs of cude 13

An unsaturated organic gas has one
sigma (o) bond and two pi (=) bonds
between its two carbon atoms. Write
the symbolic equation for its
preparation in the laboratory and
draw a labelled diagram for the used
apparatus.

2 g cprdia i (g pac e .8
dayl ) ad g S S50 G
)L sh il ) g Leaa
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( X & Y ) are two insoluble salts in
water, The compound ( X ) is a
greenish white ppt. insoluble in
caustic soda solution. The compound
( Y ) is a white gelatinous ppt. that
dissolves in sodium hydroxide
solution.  Write the molecular
formulae of both compounds.

Lgu._ajﬁ‘ﬁcymi Y¢X .9
Gl ) X Sl el
b sy eada Gl
i S 13 geall J slae
oanl ) Y Sl
otae o sl ik
Topeall €)1 gaall

Choose one of these two chemical
properties (A) or (B) and explain it:

a) The speed of the chemical
reaction increases by raising
temperature.

b) The amount of ammonia gas
produced from the reaction of its
elements increases by increasing
pressure.

Ol gaa) 31,10
e ¢ () o () i)

de pwalay (]

Sl el

5 sl Aa 0 plis

aanll) jaldall 4peS 2l 3 -
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=='11. Choose the proper answer:

The amount of electricity required to
precipitate 0.01 mole of barium from
barium chloride solution BaCl, = ...

: Aayaal LY i [ ]
TSRS P AR ETPHNUEEAN

=,BaCEz d)lé&
0.2F

05F

0.02 F
0.05F

=m 12.  Show by blanced chemical equations
- the conversion of salicylic acid into
Marookh oil

ISt el o .12
aes et Ad Jial)
gl ) ) bl




Questions from (13 to 15)
The electronic configuration for manganese ion Mn**
is : 1gAr, 3d°
Answer the following questions:

:((15 = 13) ¢ha Abind)
Seiadall oY (gAY g sl
18[Ar], 3d5: R Mn+2

s 4y ALl s "y

== 13.  How could manganese be used?
- Why are not there any uses for
manganese as a pure metal?

13lal g € Jadadial \?M“ s S 13
~“~.~ !SQIA\ . \J.;‘Dzy
¢ d@ll ailla b 8 s

What are the highest (possible)
oxidation states for manganese?
Explain why?




T
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Mention one use for each of the
following: (Manganese dioxide
- Manganese sulphate)

JS haaty Lhasid €3 .15
jiniall auS) ) e

Choose to answer (A) or (B):
Mention the use of : the given
chemical compound and chemical
process:

A) Ethanol - Hydrogenation of

unsaturated organic compounds
B) Ethylene glycol - Halogenation
of alkenes

() cs By 5i016
(<) 9
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el 4lael) Aleal)
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A sample of hydrated Iron |1 O e
chloride FeCl,. XH,0 has mass G yagiall [ yaall
39.8g When it is strongly heated , its &S FeCl, .XH,0
mass becomes 2.54¢g , Find the um 30 3,98 ¢
molecular formula for the hydrated 25 2.54 g e il
salt [Fe=56,Cl=355,0=16, el 4 5ol Bl

LG agial)
Fe=56 , CL=355 ]

aEE1g, Show by equations how to obtain : AiS csladl g 18
[ |

Ortho and Para chloro nitro benzene b s s i Ao Jgaad)

from benzene O Ol 9y sl g yin




Choose one scientist (A) or (B) , then () ‘w"f‘ e SR
mention his role in the field of H‘U ‘. (<) 9
chemistry : (2 4 Al gdl) ,eal)

;o bt
A) Ostwald Lebesd o

Al —

B) Le Chatelier

Choose the proper answer: s daaaal day) sl 20

On heating normal heptane at a high f sl (el it e
temperature in the presence of a catalyst, Jele dgaggdille 34 a4 ja
it forms

(a) Aromatic benzene only

Toluene only
@ Aromatic benzene + hydrogen insou + okl oy 3l @
(o) Toluene + hydrogen G+ el (D)

Write the scientific term that glb—adll 51 21

expresses the following statement: = JIad) —alal)
AL 3 jlaal)
A compound produced from 5 i m
nitration of glycerol and used to e
widen arteries in case of heart attack Gl g3 g il
' Alall il Y LSyl 3




Give reason for: Pk L Jle .22

It is hard to remove fatty spots from Oa Apiall all A3}
textiles by using water, except after ams V) e lall Al e
adding a detergent.

== 23. Choose the proper answer: s dassall AaY sl 23
||
The phenolphthalein color in a solution & Ol gl o b (6
ofpH=5.51s

@ Red
Yellow

(o) Colorless

(o) Blue




Give reason for :

The increase of the water vapor
amount produced from the reaction
of its elements by increasing the
pressure

: ;éL Ll e 24
cladl Hlas A4S Do i
334 3 4y peaic e paadll
.zl

=m 25. Choose one question (A) or (B) to
- answer:

How could you differentiate
practically between:

a) Potassium nitrate solution and
potassium nitrite solution

b) Sodium phosphate solution and
sodium sulphate solution

i (1) cdoad) aaf af .25
ragle qaalg ¢ (o)

2 Oa S O Glee Jaali S
syl i Jle
psanali sl ol 535 Jslae

Gl S Jslaa -
Cliss 8 Jslaa 5 a 523 gl




Explain - Without drawing — how an
iron jug can be plated with a layer of
silver, Write down the equations that
show the reactions occurring at the
two poles.

S — am ) O30 — z 126
sl (e By ) oD (S
die Gaat Al colelddl)

How could you explain :

On adding magnesium sulphate
solution to sodium bicarbonate
solution, no precipitate is formed
unless on heating. ( explain using
symbolic equations )

-4

§ i Ly .27
Aila) die ) 055 axc
st L) i, e
S Ko stan
. u.\;mﬂ\ 2 YY) e):m}-al\




Choose one statement (A ) or ( B)
and write the name of the compound
it refers to.

a) An isomer of phenyl acetate
compound.

b) An isomer of Ethanoic acid
compound

Oilad) gaal id) 28
Sl ¢ () S ()

Jas éfﬁ\ S jad) and)

Sl s -
oSrdl) i)
oaand o8 yal ya g ) -

Write the scientific term that refers
to the following statement:

Process of determining the
concentration of an acid or a base by
knowing its volume which neutralizes a
base or an acid of known volume and
concentration

b —aall €1 29
e Jd) )
Al 3 )
aaal) dae sless (52015)
32c 8 aa Jalaill 4t & 33U
paa]l o sl ((20n)

Write the scientific explanation for:
The color of siderite ore turns red
during roasting process

s ealad) janddl) IS 30
) sl di o6l J sy
3,3&49 cU:j )A;;Y\ Q)m
. parendll




am 31
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How could you explain?

The increase in the cathode mass in
the galvanic cell.

-4

¢ il Ly .31
Al 8 2K Al Bah )

Write the scientific term that refers

to:

The potential difference between
hydrogen and its ions in a molar
solution of its ions

I, alal) el ) 381 32
LAl B jlal) to

5 Oouel O el 38
Gn Y 50 Jslaa (B Al

Choose the proper answer:

In the following balanced chemical
reaction:

Ca2+ (aq)t CO32“ (aq) ~ — CaC03(5)

The amount of dissolved CaCOj; can be
increased on adding:

(A CaCOyy
KNOss)
(© NayCOs
() CHsCOOH

:daaal ey sl 33
;o i) Jela)
Ca*" g+ COs™ ==
CaCOsg
CaCOj; 4S50l Sy
: dala) vie A

Ca COg(s)

KNOj3s)
Na2C03(5)

CH3COOHs,




(1) Al <Y gadl) asl 53,34
el G ¢ () 9l

=m 34. Choose one of the following
- conversions (A) or (B) and write the Tk i) A ‘
balanced chemical equations that == l-eas _h
explain it : I i) jaan Jpa

A) Conversion of acetic acid into L e
acetamide. JALRE eI [ VENy] PE

B) Conversion of acetic acid into ethylene

Questions from 35 to 36 :(36 — 35) oo AL
Two organic compounds (A) and (B), each of them

contains three carbon atoms and their general formula JS s~ B, A Shsac JLS
( CrHan ) O30S Q3 ES e Lagia
The compound (A) is an aliphatic unsaturated @Sl - CrHpp Adlall Lagiapa
compound B Sl ¢ andia e Jladi A
The compound (B) is an aliphatic cyclic compound P P A1

wm®35.  Write the structural formula of the Al dapal) cas) .35
- compound (A) and what is the cililag . A oS jal
product of adding HBr to it ?

¢ ajl) HBr 4L




Write the structural formula of the
compound (B) , How could you
explain the high chemical reactivity
of this compound compared to the
normal alkane having the same
number of carbon atoms.

Alil) ddpal) as) .36
138 o) adila g B S pall

Cra Uslitd JAs) s
o A Galial) g alal) ol

¢ Osst @yl aae

Choose one of the chemical
properties (A) or (B) and explain
its reason:

a) The abnormal electronic
configuration of 4,,Mo with
respect to the other elements of
the 2" transition series

b) The number of transition
elements found in the 4", 5™ and
6" periods in the periodic table
are 27 not 30 elements .

Oaldl) gaa) 5337

Jle g ¢ (@) o () oy
o
A Sl gy
e e MO aind
3..:\3133.1‘}[\ B)}JJ\ )_..41_\1:
ERL
S AdEnY) aliall dae - @
¢ aalall ¢ :\.a.g\)l\ Q\)}ﬂ\
s Jsaadl (e Al
. paie 30 g puaic 27




What is meant by : Sintering
process?

ipdlaany dgalall Lo .38

Give reason for :

Rusting process occurs at a faster
rate when a scratch happens in the
tin layer that covers an iron can.

e & ol Jare laall dlee &5
ndadl) dida 8 (BaX Ghgaa
) e e s Al

How could you explain:

Using Ethylene Glycol as antifreeze
In cars radiators

AleS JsSala b aladsa)
‘L\\JL:\-LAJ‘ Q\J)g.e ‘_,,A elall aaal

Write the structural formula for :
Aspirin




=='42. Choose the proper answer:

On heating iron II oxalate in air,
is formed

@ Iron Il oxide

Iron 111 oxide

(c) Magnetic iron oxide
@ Iron 111 sulphate

s dassall AaY aal 42

I yasll VLS fpdd sie

I s xSl ()

1 ps S8 (D)

Choose to answer one guestion, (A)

or (B):

(A) Write the cell diagram for the
galvanic cell:

H, + Cu®¥ —— 2H" + Cu

Then calculate the electro motive force
of the cell knowing that the copper
oxidation potential = -0.34V

(B) An electric current of intensity 7A
has passed in a chloride solution for 4
minutes. If the cathode mass was 129
before passing the current, and 13.88 g
after passing the current. Calculate the
equivalent mass of that element.

) o LY id)43
() 9 (1) Gl Gl gl

@MW BV R i
» Aplalall 4dal
(H, + Cu** > 2H" + Cu)
36 A S Andlall 58 el
3auSY 2 o)) e 13) 404
-0.34V = el
TA €rd 2 S L w-
aaf a8 Jglaa B
I3 (5362 4 3aa] ualiall
PEPs d.\ﬁ J}S\S&\ e enlS
335120 =206 Ll
Capal N )5 5
A< 21K en113.88g

. il 13g] Al ol




sm44. Show by balanced chemical e ) ellaaly riag.44
[ |

equations how could you obtain : (o Jgas) ‘““s
First: Ordinary ether (diethyl ether) e, |
from ethanoic acid. e SN A il L

Second: Diethyl ether from glucose

Calculate the equilibrium constant Kp O3 anli cual 45
K, for the following chemical ) i) Je il

reaction :
Ny + 3Hag) = 2NHzg +
Na@g) + 3Hz(g) S 2NHs(q) + heat heat

Knowing that the partial pressures of @ A jall b gl culs 1)

N, =2.3atm,H,=7.1atm, and . 2.3 atm= (sl
NH; = 0.6 atm ailly 7.1 atm = (e sonells

0.6 atm =
Comment on the value of K, . How S5 € K, e e lides sala

could we increase the product el il (g i
amount from this reaction?

nuu._é.gss.ub ULU.OJJ' hubi &0
















